

City of Tempe

Bid Tabulation

Bid Date 07/24/20 Bid Time 12:00 pm

El Paso Gasline Multi-Use Path - McClintock Dr to Price Rd Project No. 6005241H

Base Bid

Item No.	Item Name	Quantity	Unit	Eng. Est.	TALIS CONSTRUCTION CORPORATION	DOEGE DEVELOPMENT	HUNTER CONTRACTING	WESTERN UTILITY CONTRACTORS LLC DBA OVERLEYS	DBA CONSTRUCTION, INC	STRATTON BUILDERS	STANDARD CONSTRUCTION CO INC
				Unit Cost Total Cost	ž Q	4	G CO	RS III	ON,		8
1	MOBILIZATION	1	LS	\$19,000.00 \$19,000.00	\$22,000.00 \$22,000.00	\$100,000.00 \$100,000.00	\$79,367.37 \$79,367.37	\$35,429.20 \$35,429.20	\$166,700.00 \$166,700.00	\$175,000.00 \$175,000.00	\$47,000.00 \$47,000.00
2	TRAFFIC CONTROL ALLOWANCE	1	AL	\$45,000.00 \$45,000.00	\$45,000.00 \$45,000.00	\$45,000.00 \$45,000.00	\$45,000.00 \$45,000.00	\$45,000.00 \$45,000.00	\$45,000.00 \$45,000.00	\$45,000.00 \$45,000.00	\$45,000.00 \$45,000.00
3	SURVEY	1	LS	\$15,000.00 \$15,000.00	\$19,000.00 \$19,000.00	\$15,996.00 \$15,996.00	\$17,836.10 \$17,836.10	\$13,400.00 \$13,400.00	\$27,000.00 \$27,000.00	\$20,000.00 \$20,000.00	\$16,090.00 \$16,090.00
4	STORMWATER POLLUTION PREVENTION PLAN ALLOWANCE	1	AL	\$12,300.00 \$12,300.00	\$12,300.00 \$12,300.00	\$12,300.00 \$12,300.00	\$12,300.00 \$12,300.00	\$12,300.00 \$12,300.00	\$12,300.00 \$12,300.00	\$12,300.00 \$12,300.00	\$12,300.00 \$12,300.00
5	PERMIT ALLOWANCE	1	AL	\$6,000.00 \$6,000.00	\$6,000.00 \$6,000.00	\$6,000.00 \$6,000.00	\$6,000.00 \$6,000.00	\$6,000.00 \$6,000.00	\$6,000.00 \$6,000.00	\$6,000.00 \$6,000.00	\$6,000.00 \$6,000.00
6	CLEARING AND GRUBBING	1	LS	\$15,000.00 \$15,000.00	\$49,600.00 \$49,600.00	\$14,190.00 \$14,190.00	\$31,388.67 \$31,388.67	\$39,600.00 \$39,600.00	\$34,700.00 \$34,700.00	\$80,158.00 \$80,158.00	\$27,321.00 \$27,321.00
7	REMOVE EXISTING SIDEWALK (4")	695	SF	\$4.00 \$2,780.00	\$2.70 \$1,876.50	\$4.40 \$3,058.00	\$2.31 \$1,605.45	\$2.50 \$1,737.50	\$4.00 \$2,780.00	\$5.00 \$3,475.00	\$4.00 \$2,780.00
8	REMOVE EXISTING PATH (4")	22546	SF	\$4.00 \$90,184.00	\$2.60 \$58,619.60	\$1.94 \$43,739.24	\$1.67 \$37,651.82	\$1.20 \$27,055.20	\$2.54 \$57,266.84	\$4.00 \$90,184.00	\$3.00 \$67,638.00

7/24/2020 Page 1 7/24/2020

LINCOLN CONSTRUCTORS, INC	VISUS ENG	HAYDON BUILD.	AJP ELECTRIC, INC	BANICKI CONSTRUCTION
\$180,000.00	\$90,000.00	\$30,000.00	\$280,000.00	\$43,600.00
\$180,000.00	\$90,000.00	\$30,000.00	\$280,000.00	\$43,600.00
\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00
\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00
\$16,000.00	\$30,000.00	\$32,000.00	\$29,000.00	\$28,900.00
\$16,000.00	\$30,000.00	\$32,000.00	\$29,000.00	\$28,900.00
\$12,300.00	\$12,300.00	\$12,300.00	\$12,300.00	\$12,300.00
\$12,300.00	\$12,300.00	\$12,300.00	\$12,300.00	\$12,300.00
\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
\$20,000.00	\$81,155.05	\$35,000.00	\$35,000.00	\$15,717.00
\$20,000.00	\$81,155.05	\$35,000.00	\$35,000.00	\$15,717.00
\$3.00	\$2.50	\$4.00	\$2.50	\$5.25
\$2,085.00	\$1,737.50	\$2,780.00	\$1,737.50	\$3,648.75
\$3.00	\$2.00	\$2.75	\$2.50	\$1.35
\$67,638.00	\$45,092.00	\$62,001.50	\$56,365.00	\$30,437.10

9	REMOVE CONTRETE SIDEWALK RAMP	83	SF	\$4.00 \$332.00	\$5.70 \$473.10	\$41.74 \$3,464.42	\$1.67 \$138.61	\$9.25 \$767.75	\$5.00 \$415.00	\$7.00 \$581.00	\$6.00 \$498.00
10	REMOVE EXISTING DRIVEWAY	226	SF	\$4.00 \$904.00	\$4.20 \$949.20	\$15.33 \$3,464.58	\$2.48 \$560.48	\$3.50 \$791.00	\$5.00 \$1,130.00	\$7.00 \$1,582.00	\$4.00 \$904.00
11	REMOVE SINGLE CURB	2	LF	\$7.00 \$14.00	\$90.00 \$180.00	\$125.00 \$250.00	\$15.09 \$30.18	\$72.00 \$144.00	\$5.00 \$10.00	\$10.00 \$20.00	\$11.00 \$22.00
12	REMOVE EXISTING CURB AND GUTTER	206	LF	\$8.60 \$1,771.60	\$8.90 \$1,833.40	\$13.82 \$2,846.92	\$5.24 \$1,079.44	\$4.00 \$824.00	\$5.00 \$1,030.00	\$12.00 \$2,472.00	\$11.00 \$2,266.00
13	REMOVE EXISTING CHAIN LINK FENCE	655	LF	\$7.00 \$4,585.00	\$5.50 \$3,602.50	\$5.01 \$3,281.55	\$4.33 \$2,836.15	\$3.80 \$2,489.00	\$2.75 \$1,801.25	\$5.00 \$3,275.00	\$2.00 \$1,310.00
14	REMOVE EXISTING CHAIN LINK FENCE GATE	4	EA	\$200.00 \$800.00	\$450.00 \$1,800.00	\$384.75 \$1,539.00	\$144.24 \$576.96	\$127.25 \$509.00	\$225.00 \$900.00	\$130.00 \$520.00	\$193.00 \$772.00
15	REMOVE EXISTING BOLLARD LIGHTING STRUCTURE AND FOUNDATION	98	EA	\$500.00 \$49,000.00	\$73.50 \$7,203.00	\$398.93 \$39,095.14	\$288.50 \$28,273.00	\$455.00 \$44,590.00	\$143.00 \$14,014.00	\$122.00 \$11,956.00	\$245.00 \$24,010.00
16	REMOVE EXISTING LIGHT POLE AND FOUNDATION	3	EA	\$1,500.00 \$4,500.00	\$480.00 \$1,440.00	\$483.66 \$1,450.98	\$288.50 \$865.50	\$781.00 \$2,343.00	\$289.00 \$867.00	\$410.00 \$1,230.00	\$945.00 \$2,835.00
17	REMOVE EXISTING FOUNDATION	2	EA	\$800.00 \$1,600.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
18	REMOVE EXISTING PULL BOX	1	EA	\$450.00 \$450.00	\$650.00 \$650.00	\$59.00 \$59.00	\$93.76 \$93.76	\$126.00 \$126.00	\$173.00 \$173.00	\$188.00 \$188.00	\$58.00 \$58.00
19	EXCAVATION AND GRADING	461	CY	\$8.00 \$3,688.00	\$31.00 \$14,291.00	\$359.91 \$165,918.51	\$48.00 \$22,128.00	\$40.00 \$18,440.00	\$65.00 \$29,965.00	\$50.00 \$23,050.00	\$209.00 \$96,349.00
20	CONRETE CURB	2	LF	\$18.00 \$36.00	\$160.00 \$320.00	\$193.50 \$387.00	\$27.30 \$54.60	\$447.00 \$894.00	\$44.00 \$88.00	\$45.00 \$90.00	\$94.00 \$188.00
21	6" VERTICAL CURB AND GUTTER	207	LF	\$21.90 \$4,533.30	\$27.00 \$5,589.00	\$32.25 \$6,675.75	\$31.69 \$6,559.83	\$62.00 \$12,834.00	\$33.89 \$7,015.23	\$23.00 \$4,761.00	\$38.00 \$7,866.00
22	CURB TERMINATION	1	EA	\$40.00 \$40.00	\$300.00 \$300.00	\$129.00 \$129.00	\$131.73 \$131.73	\$1,195.00 \$1,195.00	\$44.00 \$44.00	\$70.00 \$70.00	\$383.00 \$383.00
23	4" THICK CONCRETE SIDEWALK (CLASS A)	17	SF	\$4.50 \$76.50	\$96.00 \$1,632.00	\$5.17 \$87.89	\$7.25 \$123.25	\$50.00 \$850.00	\$16.00 \$272.00	\$6.00 \$102.00	\$27.00 \$459.00

7/24/2020 Page 3 7/24/2020

\$3.00	\$10.00	\$19.00	\$4.00	\$10.50
\$249.00	\$830.00	\$1,577.00	\$332.00	\$871.50
\$3.00	\$5.00	\$12.00	\$6.00	\$24.00
\$678.00	\$1,130.00	\$2,712.00	\$1,356.00	\$5,424.00
\$50.00	\$25.00	\$210.00	\$100.00	\$104.00
\$100.00	\$50.00	\$420.00	\$200.00	\$208.00
\$5.00	\$15.00	\$29.00	\$10.00	\$20.25
\$1,030.00	\$3,090.00	\$5,974.00	\$2,060.00	\$4,171.50
\$5.00	\$8.00	\$15.00	\$7.00	\$2.50
\$3,275.00	\$5,240.00	\$9,825.00	\$4,585.00	\$1,637.50
\$100.00	\$100.00	\$15.00	\$250.00	\$90.00
\$400.00	\$400.00	\$60.00	\$1,000.00	\$360.00
\$300.00	\$500.00	\$190.00	\$300.00	\$337.00
\$29,400.00	\$49,000.00	\$18,620.00	\$29,400.00	\$33,026.00
\$800.00	\$1,000.00	\$910.00	\$1,500.00	\$1,275.00
\$2,400.00	\$3,000.00	\$2,730.00	\$4,500.00	\$3,825.00
\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
\$300.00	\$200.00	\$170.00	\$150.00	\$267.00
\$300.00	\$200.00	\$170.00	\$150.00	\$267.00
\$25.00	\$300.00	\$70.00	\$70.00	\$178.00
\$11,525.00	\$138,300.00	\$32,270.00	\$32,270.00	\$82,058.00
\$100.00	\$55.00	\$710.00	\$200.00	\$171.00
\$200.00	\$110.00	\$1,420.00	\$400.00	\$342.00
\$25.00	\$40.00	\$54.00	\$40.00	\$52.00
\$5,175.00	\$8,280.00	\$11,178.00	\$8,280.00	\$10,764.00
\$200.00	\$150.00	\$1,100.00	\$375.00	\$416.00
\$200.00	\$150.00	\$1,100.00	\$375.00	\$416.00
\$10.00	\$25.00	\$92.00	\$15.00	\$37.00
\$170.00	\$425.00	\$1,564.00	\$255.00	\$629.00

24	CONCRETE DRIVEWAY (9)	637	SF	\$7.64 \$4,866.68	\$10.40 \$6,624.80	\$8.06 \$5,134.22	\$12.00 \$7,644.00	\$17.00 \$10,829.00	\$12.00 \$7,644.00	\$9.00 \$5,733.00	\$21.00 \$13,377.00
25	CURB RAMP	1094	SF	\$7.64 \$8,358.16	\$9.00 \$9,846.00	\$9.08 \$9,933.52	\$11.73 \$12,832.62	\$23.00 \$25,162.00	\$18.00 \$19,692.00	\$11.00 \$12,034.00	\$18.00 \$19,692.00
26	6" THICK CONCRETE MULTI-USE PATH	38184	SF	\$5.00 \$190,920.00	\$5.62 \$214,594.08	\$6.29 \$240,177.36	\$6.72 \$256,596.48	\$7.00 \$267,288.00	\$8.00 \$305,472.00	\$6.50 \$248,196.00	\$8.00 \$305,472.00
27	9" THICK CONCRETE MULTI-USE PATH	9821	SF	\$5.35 \$52,542.35	\$8.50 \$83,478.50	\$8.55 \$83,969.55	\$8.59 \$84,362.39	\$9.00 \$88,389.00	\$10.00 \$98,210.00	\$9.00 \$88,389.00	\$10.00 \$98,210.00
28	RESIDENTIAL SPEED HUMP - MODIFIED	2786	SF	\$8.00 \$22,288.00	\$8.15 \$22,705.90	\$9.03 \$25,157.58	\$9.00 \$25,074.00	\$14.00 \$39,004.00	\$6.00 \$16,716.00	\$18.00 \$50,148.00	\$7.00 \$19,502.00
29	ADJUST ALUMINUM CAP (MONUMENT)	1	LS	\$1,400.00 \$1,400.00	\$900.00 \$900.00	\$1,613.00 \$1,613.00	\$2,307.95 \$2,307.95	\$255.00 \$255.00	\$1,100.00 \$1,100.00	\$1,000.00 \$1,000.00	\$901.00 \$901.00
30	STRIPING (4" WHITE AND YELLOW EQUIVALENT)	2751	LF	\$0.40 \$1,100.40	\$1.15 \$3,163.65	\$0.86 \$2,365.86	\$1.80 \$4,951.80	\$3.00 \$8,253.00	\$0.75 \$2,063.25	\$2.00 \$5,502.00	\$2.00 \$5,502.00
31	WHITE EXTRUDED THERMOPLASTIC "XING"	6	EA	\$50.00 \$300.00	\$485.00 \$2,910.00	\$522.50 \$3,135.00	\$382.25 \$2,293.50	\$1,500.00 \$9,000.00	\$465.00 \$2,790.00	\$525.00 \$3,150.00	\$415.00 \$2,490.00
32	WHITE EXTRUDED "SPEED TABLE"	12	EA	\$60.00 \$720.00	\$197.00 \$2,364.00	\$212.80 \$2,553.60	\$288.50 \$3,462.00	\$275.00 \$3,300.00	\$190.00 \$2,280.00	\$215.00 \$2,580.00	\$313.00 \$3,756.00
33	TRAFFIC SIGNS	22	EA	\$370.00 \$8,140.00	\$390.00 \$8,580.00	\$471.36 \$10,369.92	\$685.16 \$15,073.52	\$600.00 \$13,200.00	\$346.00 \$7,612.00	\$325.00 \$7,150.00	\$358.00 \$7,876.00
34	RELOCATE EXISTING PATH SIGNS	5	EA	\$370.00 \$1,850.00	\$420.00 \$2,100.00	\$451.60 \$2,258.00	\$504.86 \$2,524.30	\$445.00 \$2,225.00	\$402.00 \$2,010.00	\$455.00 \$2,275.00	\$250.00 \$1,250.00
35	TREE - 24" BOX	160	EA	\$324.00 \$51,840.00	\$305.00 \$48,800.00	\$265.00 \$42,400.00	\$301.62 \$48,259.20	\$280.00 \$44,800.00	\$330.00 \$52,800.00	\$331.00 \$52,960.00	\$270.00 \$43,200.00
36	SHRUBS (5 GALLON)	286	EA	\$27.70 \$7,922.20	\$42.00 \$12,012.00	\$20.00 \$5,720.00	\$23.54 \$6,732.44	\$24.00 \$6,864.00	\$24.00 \$6,864.00	\$25.00 \$7,150.00	\$20.00 \$5,720.00
37	GROUNDCOVERS (5 GALLON)	364	EA	\$27.34 \$9,951.76	\$42.00 \$15,288.00	\$20.00 \$7,280.00	\$25.74 \$9,369.36	\$26.50 \$9,646.00	\$24.00 \$8,736.00	\$25.00 \$9,100.00	\$23.00 \$8,372.00
38	ACCENTS/CACTI (5 gALLON)	333	EA	\$29.00 \$9,657.00	\$54.00 \$17,982.00	\$25.00 \$8,325.00	\$32.37 \$10,779.21	\$33.00 \$10,989.00	\$38.00 \$12,654.00	\$31.00 \$10,323.00	\$29.00 \$9,657.00

7/24/2020 Page 5 7/24/2020

\$28.00	\$12.00	\$26.00	\$16.00	\$10.00
\$17,836.00	\$7,644.00	\$16,562.00	\$10,192.00	\$6,370.00
\$17.00	\$15.00	\$29.00	\$18.00	\$10.00
\$18,598.00	\$16,410.00	\$31,726.00	\$19,692.00	\$10,940.00
\$13.10	\$12.00	\$13.00	\$8.75	\$6.25
\$500,210.40	\$458,208.00	\$496,392.00	\$334,110.00	\$238,650.00
\$14.40	\$16.00	\$18.25	\$11.00	\$8.25
\$141,422.40	\$157,136.00	\$179,233.25	\$108,031.00	\$81,023.25
\$13.75	\$10.00	\$10.00	\$11.00	\$10.00
\$38,307.50	\$27,860.00	\$27,860.00	\$30,646.00	\$27,860.00
\$2,500.00	\$1,000.00	\$440.00	\$200.00	\$350.00
\$2,500.00	\$1,000.00	\$440.00	\$200.00	\$350.00
\$1.18	\$2.50	\$1.25	\$2.00	\$1.50
\$3,246.18	\$6,877.50	\$3,438.75	\$5,502.00	\$4,126.50
\$718.00	\$300.00	\$290.00	\$275.00	\$1,300.00
\$4,308.00	\$1,800.00	\$1,740.00	\$1,650.00	\$7,800.00
\$293.00	\$225.00	\$220.00	\$200.00	\$1,300.00
\$3,516.00	\$2,700.00	\$2,640.00	\$2,400.00	\$15,600.00
\$450.00	\$400.00	\$360.00	\$350.00	\$475.00
\$9,900.00	\$8,800.00	\$7,920.00	\$7,700.00	\$10,450.00
\$625.00	\$400.00	\$390.00	\$300.00	\$350.00
\$3,125.00	\$2,000.00	\$1,950.00	\$1,500.00	\$1,750.00
\$365.00	\$360.00	\$280.00	\$215.00	\$267.60
\$58,400.00	\$57,600.00	\$44,800.00	\$34,400.00	\$42,816.00
\$28.00	\$27.00	\$28.00	\$18.00	\$22.80
\$8,008.00	\$7,722.00	\$8,008.00	\$5,148.00	\$6,520.80
\$31.00	\$27.00	\$28.00	\$20.00	\$25.20
\$11,284.00	\$9,828.00	\$10,192.00	\$7,280.00	\$9,172.80
\$39.00	\$34.00	\$30.00	\$24.00	\$31.20
\$12,987.00	\$11,322.00	\$9,990.00	\$7,992.00	\$10,389.60

39	ROCK MULCH	137465	SF	\$0.75 \$103,098.75	\$0.79 \$108,597.35	\$0.35 \$48,112.75	\$0.62 \$85,228.30	\$0.55 \$75,605.75	\$0.45 \$61,859.25	\$0.40 \$54,986.00	\$0.60 \$82,479.00
40	ANGULAR RIP-RAP	1432	SF	\$2.20 \$3,150.40	\$3.29 \$4,711.28	\$1.00 \$1,432.00	\$1.99 \$2,849.68	\$4.00 \$5,728.00	\$2.00 \$2,864.00	\$1.50 \$2,148.00	\$2.00 \$2,864.00
41	DECORATIVE BOULDERS (1 TON)	17	EA	\$430.00 \$7,310.00	\$300.00 \$5,100.00	\$175.00 \$2,975.00	\$338.40 \$5,752.80	\$373.00 \$6,341.00	\$225.00 \$3,825.00	\$220.00 \$3,740.00	\$300.00 \$5,100.00
42	DECORATIVE BOULDERS (1/2 TON)	17	EA	\$322.00 \$5,474.00	\$240.00 \$4,080.00	\$125.00 \$2,125.00	\$205.99 \$3,501.83	\$285.00 \$4,845.00	\$160.00 \$2,720.00	\$160.00 \$2,720.00	\$175.00 \$2,975.00
43	DECORATIVE BOULDERS (1/4 TON)	17	EA	\$215.00 \$3,655.00	\$210.00 \$3,570.00	\$100.00 \$1,700.00	\$102.99 \$1,750.83	\$189.00 \$3,213.00	\$125.00 \$2,125.00	\$130.00 \$2,210.00	\$90.00 \$1,530.00
44	LANDSCAPE ESTABLISHMENT (90 DAYS)	1	LS	\$2,500.00 \$2,500.00	\$8,400.00 \$8,400.00	\$7,500.00 \$7,500.00	\$3,236.89 \$3,236.89	\$6,300.00 \$6,300.00	\$9,430.00 \$9,430.00	\$9,375.00 \$9,375.00	\$2,900.00 \$2,900.00
45	2" WATER METER AND WATER SERVICE	1	LS	\$4,000.00 \$4,000.00	\$3,000.00 \$3,000.00	\$14,964.00 \$14,964.00	\$9,538.24 \$9,538.24	\$25,700.00 \$25,700.00	\$20,125.00 \$20,125.00	\$10,000.00 \$10,000.00	\$24,017.00 \$24,017.00
46	RELOCATE EXISTING 1" WATER METER	1	LS	\$2,500.00 \$2,500.00	\$1,800.00 \$1,800.00	\$10,320.00 \$10,320.00	\$1,571.88 \$1,571.88	\$2,800.00 \$2,800.00	\$1,300.00 \$1,300.00	\$7,500.00 \$7,500.00	\$2,510.00 \$2,510.00
47	IRRIGATION CONTROLLER (SOLAR)	3	EA	\$5,090.00 \$15,270.00	\$2,720.00 \$8,160.00	\$2,500.00 \$7,500.00	\$4,046.12 \$12,138.36	\$3,050.00 \$9,150.00	\$3,130.00 \$9,390.00	\$3,125.00 \$9,375.00	\$3,680.00 \$11,040.00
48	IRRIGATION SYSTEM	1	LS	\$145,000.00 \$145,000.00	\$138,300.00 \$138,300.00	\$72,200.00 \$72,200.00	\$116,748.90 \$116,748.90	\$133,600.00 \$133,600.00	\$90,505.00 \$90,505.00	\$90,250.00 \$90,250.00	\$106,194.00 \$106,194.00
49	IRRIGATION SYSTEM - REPAIR PARK (SPRAY)	1	LS	\$10,000.00 \$10,000.00	\$9,600.00 \$9,600.00	\$15,000.00 \$15,000.00	\$34,790.73 \$34,790.73	\$19,000.00 \$19,000.00	\$18,066.00 \$18,066.00	\$18,750.00 \$18,750.00	\$11,376.00 \$11,376.00
50	CHAIN LINK FENCE	584	LF	\$47.00 \$27,448.00	\$26.50 \$15,476.00	\$33.53 \$19,581.52	\$24.88 \$14,529.92	\$16.00 \$9,344.00	\$21.00 \$12,264.00	\$25.00 \$14,600.00	\$30.00 \$17,520.00
51	PEDESTRIAN(3) AND VEHICULAR GATE (1)	1	LS	\$5,000.00 \$5,000.00	\$3,700.00 \$3,700.00	\$2,580.00 \$2,580.00	\$4,398.25 \$4,398.25	\$3,880.00 \$3,880.00	\$4,825.00 \$4,825.00	\$3,965.00 \$3,965.00	\$3,668.00 \$3,668.00
52	SITE FURNISHINGS ON CONCRETE PAD	2	EA	\$5,600.00 \$11,200.00	\$900.00 \$1,800.00	\$1,278.50 \$2,557.00	\$3,746.17 \$7,492.34	\$5,200.00 \$10,400.00	\$5,878.00 \$11,756.00	\$2,652.00 \$5,304.00	\$5,223.00 \$10,446.00
53	#3 1/2 PULL BOX (COT STD. DETAIL T-441)	67	EA	\$450.00 \$30,150.00	\$575.00 \$38,525.00	\$316.04 \$21,174.68	\$1,234.02 \$82,679.34	\$773.00 \$51,791.00	\$650.00 \$43,550.00	\$688.00 \$46,096.00	\$315.00 \$21,105.00

7/24/2020 Page 7 7/24/2020

\$0.73 \$100,349.45	\$0.75 \$103,098.75	\$0.50 \$68,732.50	\$0.50 \$68,732.50	\$0.79 \$108,597.35
\$7.25	\$4.00	\$5.00	\$2.00	\$3.78
\$10,382.00	\$5,728.00	\$7,160.00	\$2,864.00	\$5,412.96
\$410.00	\$250.00	\$280.00	\$245.00	\$351.60
\$6,970.00	\$4,250.00	\$4,760.00	\$4,165.00	\$5,977.20
\$250.00	\$180.00	\$170.00	\$150.00	\$267.60
\$4,250.00	\$3,060.00	\$2,890.00	\$2,550.00	\$4,549.20
\$125.00	\$150.00	\$110.00	\$80.00	\$178.80
\$2,125.00	\$2,550.00	\$1,870.00	\$1,360.00	\$3,039.60
\$3,900.00	\$12,000.00	\$13,400.00	\$2,500.00	\$6,000.00
\$3,900.00	\$12,000.00	\$13,400.00	\$2,500.00	\$6,000.00
\$17,750.00	\$8,500.00	\$9,600.00	\$8,000.00	\$10,320.00
\$17,750.00	\$8,500.00	\$9,600.00	\$8,000.00	\$10,320.00
\$24,000.00	\$3,800.00	\$5,600.00	\$6,000.00	\$6,000.00
\$24,000.00	\$3,800.00	\$5,600.00	\$6,000.00	\$6,000.00
\$4,900.00	\$3,250.00	\$5,000.00	\$3,000.00	\$2,880.00
\$14,700.00	\$9,750.00	\$15,000.00	\$9,000.00	\$8,640.00
\$140,700.00	\$105,000.00	\$74,000.00	\$98,000.00	\$126,000.00
\$140,700.00	\$105,000.00	\$74,000.00	\$98,000.00	\$126,000.00
\$15,075.00	\$22,000.00	\$19,000.00	\$10,000.00	\$18,000.00
\$15,075.00	\$22,000.00	\$19,000.00	\$10,000.00	\$18,000.00
\$49.00	\$42.00	\$15.00	\$20.00	\$32.00
\$28,616.00	\$24,528.00	\$8,760.00	\$11,680.00	\$18,688.00
\$710.00	\$4,000.00	\$15.00	\$4,500.00	\$6,500.00
\$710.00	\$4,000.00	\$15.00	\$4,500.00	\$6,500.00
\$4,075.00	\$3,500.00	\$3,100.00	\$3,800.00	\$3,500.00
\$8,150.00	\$7,000.00	\$6,200.00	\$7,600.00	\$7,000.00
\$975.00	\$450.00	\$610.00	\$575.00	\$500.00
\$65,325.00	\$30,150.00	\$40,870.00	\$38,525.00	\$33,500.00

SCH 40 PVC ELECTRICAL COMDUIT, 1"WITH" 270												
NYLON PULL RPOCE (TRENCH) 571,540,00 574,350,50 58,581,50 58,581,50 58,581,50 58,681,20 58,6	54		270	LF								
SSE, EL PASO GASLINE MUP S24,500.00 \$41,650.00 \$42,668.75 \$46,493.16 \$35,672.00 \$48,020.00 \$21,119.00 \$42,581.00 \$12,000.00 \$11,000 \$13,000.00 \$13,000.00 \$13,000.00 \$13,000.00 \$13,000.00 \$13,000.00 \$15,	55		5110	LF	·		·	·		·	·	·
CASLINE MUP S294,000.00 S171,500.00 S229,467.00 S123,701.97 S202,615.00 S166,800.00 S160,818.00 S179,732.00 S80.00 S0.00 S0.0	56		49	EA	,	*		*	•			
SOLID SOLI	57	,	49	EA		• •	. ,			. ,	. ,	
\$26,817.50 \$21,454.00 \$27,675.66 \$7,723.44 \$8,591.60 \$16,090.50 \$21,454.00 \$2	58	NOT USED	0	EA	·	·	•			·	·	
BOND \$7,562.50 \$4,537.50 \$7,804.50 \$2,178.00 \$2,420.00 \$4,537.50 \$6,050.00 \$6,050.00 \$6,050.00 \$1,00	59	ELECTRICAL CONDUCTORS (NO. 8 AWG)	21454	LF			, -				•	
Second Color	60		6050	LF	·	·	·	·			·	·
\$40,500.00 \$90,450.00 \$10,622.88 \$109,050.30 \$115,560.00 \$91,800.00 \$92,178.00 \$106,002.00	61	ELECTRICAL CONDUCTORS (NO. 10 AWG)	727	LF		·					·	·
\$300.00 \$402.00 \$309.96 \$915.60 \$930.00 \$378.00 \$414.00 \$306.00 \$306.00 \$309.00 \$378.00 \$414.00 \$306.00 \$306.00 \$414.00 \$306.0	62	LUMINAIRE (CURVILINEAR LED)	54	EA				* **	. ,	, ,	. ,	
\$14,000.00 \$14,000.00	63	TWIST LOCK PHOTOCELL	6	EA					·			·
\$1,050.00 \$14,250.00 \$15,279.00 \$4,621.02 \$5,475.00 \$14,490.00 \$15,750.00 \$15,246.00 \$15,246.00 \$15,00	64	ELECTRICAL SERVICE ALLOWANCE	1	AL								
GENERAL POLE) \$30,000.00 \$5,250.00 \$3,515.00 \$12,622.65 \$13,125.00 \$4,460.00 \$4,845.00 \$3,510.00 67 LUMINAIRE POLE FOUNDATION (COT STD. DETAIL T- 5 EA \$500.00 \$850.00 \$903.00 \$110.08 \$707.00 \$920.00 \$431.00 \$901.00 656, GENERAL POLE) \$2,500.00 \$4,250.00 \$4,515.00 \$550.40 \$3,535.00 \$4,600.00 \$2,155.00 \$4,505.00	65	LIGHTING CONTACTOR PANEL	3	EA	,	• •	. ,			, ,	. ,	
656, GENERAL POLE) \$2,500.00 \$4,250.00 \$4,515.00 \$550.40 \$3,535.00 \$4,600.00 \$2,155.00 \$4,505.00	66		5	EA		• •						
Total Base Bid: \$1,542,053.15 \$1,507,528.62 \$1,515,567.72 \$1,543,824.92 \$1,619,952.50 \$1,679,189.12 \$1,681,413.00 \$1,681,643.00	67		5	EA								
			Total Ba	ase Bid:	\$1,542,053.15	\$1,507,528.62	\$1,515,567.72	\$1,543,824.92	\$1,619,952.50	\$1,679,189.12	\$1,681,413.00	\$1,681,643.00

7/24/2020 Page 9 7/24/2020

\$7,500.00 \$1,754,090.26	\$4,250.00 \$1,758,000.00	\$4,450.00 \$1,822,000.00	\$6,000.00 \$2,190,100.75	\$7,100.00 \$2,218,852.33
\$1,500.00	\$850.00	\$890.00	\$1,200.00	\$1,420.00
\$3,500.00 \$17,500.00	\$825.00 \$4,125.00	\$860.00 \$4,300.00	\$1,000.00 \$5,000.00	\$1,375.00 \$6,875.00
\$8,500.00 \$25,500.00	\$4,500.00 \$13,500.00	\$4,700.00 \$14,100.00	\$7,000.00 \$21,000.00	\$7,450.00 \$22,350.00
\$14,000.00 \$14,000.00	\$14,000.00 \$14,000.00	\$14,000.00 \$14,000.00	\$14,000.00 \$14,000.00	\$14,000.00 \$14,000.00
\$900.00	\$360.00	\$366.00	\$450.00	\$588.00
\$150.00	\$60.00	\$61.00	\$75.00	\$98.00
\$27,000.00	\$81,000.00	\$81,000.00	\$102,600.00	\$130,680.00
\$500.00	\$1,500.00	\$1,500.00	\$1,900.00	\$2,420.00
\$1,454.00	\$617.95	\$727.00	\$727.00	\$981.45
\$2.00	\$0.85	\$1.00	\$1.00	\$1.35
\$12,100.00	\$4,537.50	\$4,537.50	\$9,075.00	\$6,957.50
\$2.00	\$0.75	\$0.75	\$1.50	\$1.15
\$42,908.00	\$16,090.50	\$16,090.50	\$32,181.00	\$24,672.10
\$2.00	\$0.75	\$0.75	\$1.50	\$1.15
\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
\$3,500.00 \$171,500.00	\$2,800.00 \$137,200.00	\$2,882.00 \$141,218.00	\$3,700.00 \$181,300.00	\$4,635.00 \$227,115.00
\$1,500.00 \$73,500.00	\$850.00 \$41,650.00	\$43,610.00	\$1,200.00 \$58,800.00	\$1,420.00 \$69,580.00
	\$850.00	\$890.00		
\$21.00 \$107,310.00	\$12.00 \$61,320.00	\$11.00 \$56,210.00	\$16.00 \$81,760.00	\$18.00 \$91,980.00
\$6,750.00	\$5,940.00	\$5,940.00	\$4,320.00	\$9,720.00
\$25.00	\$22.00	\$22.00	\$16.00	\$36.00